COZYMATIC L 2 3

Hannah 6 Drawer Chest

x 8 x 8 x 1
4 5 6
\
S/
x 1 x 4 x 1
1 m8*20 flat head screw 2 m6*7 round head screws

3 M5 hexagonal wrenches 4 M4 hexagonal wrenches

- 5 round foot pads 25 6 Anti-tip device
Installation
. Installation Difficulty: Easy
« Number of People Needed: 1 Installation
. Estimated Time: 10 minutes Steps

« Other Tools Needed: No

J



Before installation, please lay a layer of packaging cartons or
carpet on the ground as a buffer to avoid damage to the goods.

Assemble the metal feet.
Insert the metal rod and tighten it with the m6*7 round
head screw. Put the round foot pad on the bottom.

Install the metal feet and fix them with
M8*20 flat head screws. After the metal
feet are installed, stand up the cabinet.

Installation Complete



